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1 58208 ERESES TRAG TS IREE -2 oo e
> 58278 TREE TS 3k TTRENE TS 3 TTRENE TS 3 TREE TS 3k
Bttt y—E=4 B9 —2HB=3 Bt Y—HB=R2 Bttty —Em=1
3 6838 TRERE TS 3 TRENE TS 3 TRERE TS 3 TREE TS 3
By —EERL Bty —4E=R3 By —aE=R2 Bty —2E=1
4 68108 TREE TS 3k TTRENE TS 3 TTRENE TS 3 TREE TS 3
Bttt y9—Em=4 Bttt 9—2HB=3 Bty —HB=R2 Bttt y—aEm=1
5 68175 TREBE TS 3 TRENE TS 3 TRERE TS 3 TREE TS 3
Bty —EER4 Bty —4E=R3 Bty —aE=R2 Bty —2E=1
6 6B248 TREE TS 3k TTRENE TS 3 TTRENE TS 3 TREE TS 3
Bttt y9—E=4 B9 —2HB=3 Bt Y—HB=R2 Bttt y—2Em=R1
7 7818 TRENE TS 3 TRENE TS 3 TRERE TS 3 TREE TS 3
Bty —EERL Bty —4E=R3 Bty —aE=R2 Bty —2E=1
8 7B8H TREE TS 3k TTRENE TS 3 TTRENE TS 3 TREE TS 3k
Bttt y—Em=4 B9 —2HB=3 Bty —HB=R2 Bttt y—Em=1
9 78158 TRENE TS 3 TRENE TS 3 TRERE TS 3 TREKE TS 3
Bty —aERL Bty —4E=R3 Bty —aE=R2 Bty —2E=1
10 78228 TTRENE TS 3 TRELE TS 3 TRELE TS 3 TRELE TS 3
Bt Y —£Z=E4 Bt Y —£F=E3 Bty —E2F=E2 Bt Y —E£F=1
o 8858 TTRAKS TS5 3 TTRALS TS5 30 TERALS TS5 3k TS TS 3R
Bt I —Em=L Bt —E=3 Bt I —E=2 Bty —E=1
1 8H26H TTREE TS 3 TRELE TS 3 TRELE TS 3 TELE TS 3
Bt Y —EZ=E4 Bt Y —£F=E3 Bty —EF=E2 Bt Y —E£F=E1
12 9B2A8 TREE TS 3 TREE TS 3 TREE TS 3 TREE TS 3
Bty —E=L Bty —E=3 Bty —2E=2 Bty —E=1
13 9898 TTRENE TS 3 TRELE TS 3 TRELE TS 3 TXELE TS 3
Bt Y —£Z=E4 Bt Y —£F=E3 Bty —EF=E2 Bt Y—E£FZ=1

) oR16H B Es BRAR 19:00~21:00

(EEZBE 99— h—I)

15 9H308 TTREE TS 3 TRELE TS 3 TRELE TS 3 TRELE TS 3
Bt Y —£Z=E4 Bt Y —E£F=E3 Bty —EF=E2 Bt Y—E£F=E1
16 10878 TREE TS 3 TREE TS 3 TREE TS 3 TREE TS 3
Wz s —2@=4 W9 —2HE3 WS —2HR2 B —2B=
17 108148 TTRENE TS 3 TRELE TS 3 TRELE TS 3 TRELE TS 3
Bt Y —EZ=4 Bt Y —E£F=E3 Bt Y —EF=E2 Bt Y—EF=E1
18 108218 TTRALS TS5 30 TTRALS TS5 30 TTRAS TS5 3k TSNS TS 30
Bt Y—REB=4S Bt 9—REB=3 Bt 9—REB=R2 Bty —2E=1
19 108280 TORAE TS 3R TORAE S 3R TTRENE TS 3R TTRBE 53
Bt Y —EZ=4 Bt Y —E£F=E3 Bt Y —EF=E2 Bt Y—EF=E1
0 11848 TTRALS TS5 3k TTRALS TS5 30 TTRAS TS5 3k TSNS TS 30
Bt Y—REB=4 Bt 9—REB=3 Bt 9—2EB=R2 Bttty —a2E=1
21 1BE1E TORAE S5 3R TTRAE TS 3R TTRENE TS 3R TTRBE S5 3
Bt Y —EZ=4 Bt Y —E£F=E3 Bt Y —EF=E2 Bt Y—EF=E1
22 118186 TTRALS TS5 30 TTRALS TS5 30 TTRAS TS5 3k TSNS TS 3R
Bt Y—REm=4 Bt 9—2EB=3 Bt Y—REB=R2 Bty —a2E=1
23 12828 AFRRA TRANE TS 3B by —REE oo 1809
o 12890 TTRALS TS5 30 TTRALS TS5 30 TTRAS TS5 3k TSNS TS 30
Bt Y—2EB=4 Bt 9—2EB=3 Bty —EB=R2 Bty —a2E=1
25 126168 TS TS5 3k TCRAS TS5 3k TS TS5 3 TTRAKS TS 3
Bt Y —EZ=4 Bt Y —E£F=E3 Bt Y —EF=E2 Bt Y—EF=E1
26 128230 TERBIE TS 3R RIS TS5 3 RIS S5 3 TRELE TS 3R
Bttt y—2Em=4 Bt 9—2EB=3 Bt 9—EB=2 Bttty —aEm=1
s 186E TTRALE TS 3R TERALE 75 3 TTRALE 75 3 TTRALE TS 3
Bty —EERL Bt 9 —4E=3 Bty —aE=2 Bty —aE=1
27 18138 TREE TS 3 TRELE TS 30 TRELE TS 30 TRELRE TS 30
Bttt y—2Em=4 Bt 9—2EB=3 Bt 9—EB=2 Bttty —aEm=1
8 1A208 TTRBIE S 3R TTRAE TS 30 TTRAIE TS 30 TERBIE TS 3
Bty —2ER4 Bty —4E=3 Bty —EE=2 Bty —aE=1
29 18278 TREE TS 3 TRELE TS 30 TRELE TS 30 TRELRE TS 30
Bttt y—Em=4 Bt Y9—2EB=3 Bt 9—EB=2 Bttt y—a2Em=1
30 2H30 TTRBIE S 3R TTRAE TS 30 TTRAIE TS 30 TERBIE TS 3
Bty —2ER4 Bty —4E=3 Bty —EE=2 Bty —aE=1
31 SH108 TERBIE TS 3R RIS TS5 3 TTRBIE S5 30 TRELE TS 3R
Bt Y—2Em=4 Bt 9—2EB=3 Bt 9—2EB=2 Bttt y—aE=1
32 28178 BRETR TREE TS IMEL VY —AEE 814:00~16:00
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